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RE o RE o E RE o =B | @@ RE o E RE o
FREAR 2011/5/6 2011/6/8 2011/8/3 2011/10/26| 2011/12/7 2012/2/16
FREEFZI 12:43 13:10 12:10 13:00 14:05 14:10
KIE & & i i i i
R (°C) 20.0 26.0 30.5 20 18.0 130
KiE (°C) 18.0 19.0 27.0 23 21.0 16.0
REUKR (m) 05 05 05 05 05 05
2KE (m) 15.0 15.0 15.0 14.0 15.0 145
BRE (m) 8.0 10.2 9.5 11.0 145 125
R BE BE BEBE BEBE BEBE BEBE
48 e e e e e e
25 ER ER ER ER ER ER
pH 8.1 8.2 8.2 8.2 8.2 8.1
DO (mg/1) 78 7.0 6.9 6.6 73 8.0
% CoD (mg/1) 0.8 0.8 12 0.8 0.7 0.6
B | KBEER (MPN/100mD  0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00
i’!; n-A34 U E (mg/1) <05 <05 <05 <05 <05 <05
g |2E% (mg/1) 0.13 0.14 0.18 0.12 0.12 0.17
3 (mg/1) 0.013 0.011 0.011 0014 0.009 0.009
2 HE (mg/1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
HRED L (mg/1) - < 0.001 - < 0.001 - -
2T (mg/1) - <01 - <0.1 - -
) (mg/1) - < 0.005 - < 0.005 - -
pa(iA=FN (mg/1) - <0.02 - <0.02 - -
itk (mg/1) - 0.002 - 0.002 - -
#AIKER (mg/1) - < 0.0005 - < 0.0005 - -
7 ILFILIKER (mg/1) - - - - - -
PCB (mg/1) - < 0.0005 - < 0.0005 - -
it P2l=[=F L5 (mg/1) - < 0.002 - < 0.002 - -
st (oS (mg/1) - < 0.0002 - < 0.0002 - -
1,2-Y"yA04y (mg/1) - < 0.0004 - < 0.0004 - -
" 1,1-'9A0LFLy (mg/1) - < 0.002 - < 0.002 - -
YA-12-Y90ATFLY  (mg/l) - < 0.004 - < 0.004 - -
& 1,1,1-M)900I4Y (mg/1) - <001 - <001 - -
1,1,2-M)900I4Y (mg/1) - < 0.0006 - < 0.0006 - -
MYORIFLY (mg/1) - < 0.003 - < 0.003 - -
g |7t77enrrLy (mg/1) - < 0.001 - < 0.001 - -
1,3-4°9007 1Ay (mg/1) - < 0.0002 - < 0.0002 - -
FoT7 L (mg/1) - < 0.0006 - < 0.0006 - -
DA (mg/1) - < 0.0003 - < 0.0003 - -
FANVHILT (mg/1) - < 0.002 - <0.002 - -
oty (mg/1) - < 0.001 - < 0.001 - -
LY (mg/1) - < 0.001 - < 0.001 - -
|t zrruEmEmEER (ng/1) - 0.12 - 0.08 - -
14-DA %Y (mg/1) - < 0.005 - < 0.005 - -
ss (mg/1) 3 3 2 <1 1 <1
i) (mg/1) - - - - - -
i=VN (mg/1) - - - - - -
BN RE (%o) 33 34 32 33 32 32
z |yookiL L (mg/1) - < 0.001 - < 0.001 - -
,ﬁ RILLTILTER (mg/1) - <0.008 - <0.008 - -
5 |[7z/—n (mg/1) - <0.02 - <0.02 - -
B |&iemr1> (mg/1) 18000 18000 17000 19000 19000 18000
TFUoEZTHER (mg/1) - - - - - -
T ER (mg/1) - 0.12 - 0.08 - -
EIHBmEER (mg/1) - <0.01 - <001 - -
B (mg/1) - - - - - -
i
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A% St.8 CODEDHBEEKIEA -
B BRBEGLY—I) R -
ER-YVADOFRIEE KA -
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45 6H 8 A 108 128 28
RE o RE o E RE o =B | @@ RE o E RE o
FREAR 2011/5/6 2011/6/8 2011/8/3 2011/10/26| 2011/12/7 2012/2/16
FREEFZI 12:59 13:35 12:40 13:20 14:15 14:30
KIE & & i i i i
R (°c) 20.0 26.0 30.0 20 18.0 129
KiE (°c) 18.0 19.0 275 23 21.0 16.0
REUKR (m) 05 05 05 05 05 05
2KE (m) 220 245 25.0 230 25.0 24.0
BRE (m) 8.0 10.0 8.5 115 16.5 13
R BE BE BEBE BEBE BEBE BEBE
48 e e e e e e
25 ER ER ER ER ER ER
pH 8.1 8.2 8.2 8.2 8.2 8.1
DO (mg/1) 8.2 7.0 6.9 6.7 7.2 8.9
% CoD (mg/1) 0.8 0.9 1.3 1.1 0.7 0.7
B | KBEER (MPN/100mD  0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00
i!é n-A34 U E (mg/1) <05 <05 <05 <05 <05 <05
g |2E% (mg/1) 0.14 0.13 0.16 0.13 0.12 0.16
3 (mg/1) 0.021 0.009 0.010 0.007 0012 0.011
2 HE (mg/1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
HRED L (mg/1) - < 0.001 - <0.001 - -
2T (mg/1) - <01 - <0.1 - -
) (mg/1) - < 0.005 - < 0.005 - -
pa(iA=FN (mg/1) - <0.02 - <002 - -
itk (mg/1) - 0.002 - 0.002 - -
#AIKER (mg/1) - < 0.0005 - < 0.0005 - -
7 ILFILIKER (mg/1) - - - - - -
PCB (mg/1) - < 0.0005 - < 0.0005 - -
it P2l=[=F L5 (mg/1) - < 0.002 - < 0.002 - -
st (oS (mg/1) - < 0.0002 - < 0.0002 - -
1,2-Y"yA04y (mg/1) - < 0.0004 - < 0.0004 - -
" 1,1-'9A0LFLy (mg/1) - < 0.002 - <0.002 - -
YA-12-Y90ATFLY  (mg/l) - < 0.004 - <0.004 - -
& 1,1,1-M)900I4Y (mg/1) - <001 - <001 - -
1,1,2-M)900I4Y (mg/1) - < 0.0006 - < 0.0006 - -
MYORIFLY (mg/1) - < 0.003 - <0.003 - -
g |7t79mnzrLy (mg/1) - < 0.001 - <0001 - -
1,3-4°9007 1Ay (mg/1) - < 0.0002 - < 0.0002 - -
FoT7 L (mg/1) - < 0.0006 - < 0.0006 - -
DA (mg/1) - < 0.0003 - < 0.0003 - -
FANVHILT (mg/1) - < 0.002 - <0.002 - -
oty (mg/1) - < 0.001 - <0001 - -
LY (mg/1) - < 0.001 - <0001 - -
|t zrruEmEmEER (ng/1) - 0.10 - 0.11 - -
14-DA %Y (mg/1) - < 0.005 - < 0.005 - -
ss (mg/1) 5 3 1 2 <1 1
i) (mg/1) - - - - - -
i=VN (mg/1) - - - - - -
BN RE (%o) 33 34 32 33 33 32
z |yookiL L (mg/1) - < 0.001 - <0001 - -
,ﬁ RILLTILTER (mg/1) - <0.008 - <0.008 - -
5 |[7=/— (mg/1) - <0.02 - <002 - -
B |&iemr1> (mg/1) 18000 19000 18000 19000 18000 19000
TFUoEZTHER (mg/1) - - - - - -
T ER (mg/1) - 0.10 - 0.1 - -
EIHBmEER (mg/1) - <0.01 - <001 - -
B (mg/1) - - - - - -
i
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FREAR 2011/5/6 2011/6/8 2011/8/3 2011/10/26| 2011/12/7 2012/2/16
FREEFZI 10:55 11:00 11:10 11:20 11:40 12:30
KIE ] 5l i i i ]
SR (°C) 21.0 215 295 21 21.0 10.2
JKiR (°C) 18.5 19.0 255 22 195 155
REUKR (m) 05 05 05 05 05 05
2KE (m) 51.0 525 51.7 51.0 52.0 51.5
BRE (m) 105 108 75 11.0 125 135
R BEBE BE BEBE BEBE BEBE BEBE
48 e e e e e e
25 ER ER ER ER ER ER
pH 8.1 8.1 8.2 8.2 8.1 8.1
DO (mg/1) 7.6 7.0 6.9 7.0 7.2 8.0
% CoD (mg/1) 0.8 0.9 1.4 1.4 0.7 0.5
B | KBEER (MPN/100mD  0.0E+00 1.1E+01 0.0E+00 0.0E+00 0.0E+00 0.0E+00
i!é n-A34 U E (mg/1) <05 <05 <05 <05 <05 <05
g |2E% (mg/1) 0.14 0.21 0.18 0.17 0.14 0.18
3 (mg/1) 0.018 0.019 0014 0.018 0.016 0.011
2 HE (mg/1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
HRED L (mg/1) - < 0.001 - < 0.001 - -
2T (mg/1) - <01 - <01 - -
) (mg/1) - < 0.005 - < 0.005 - -
pa(iA=FN (mg/1) - <0.02 - <0.02 - -
itk (mg/1) - 0.002 - 0.002 - -
#a7K 4R (mg/1) - < 0.0005 - < 0.0005 - -
7 ILFILIKER (mg/1) - - - - - -
PCB (mg/1) - < 0.0005 - < 0.0005 - -
it P2l=[=F L5 (mg/1) - < 0.002 - < 0.002 - -
st (oS (mg/1) - < 0.0002 - < 0.0002 - -
1,2-Y"yA04y (mg/1) - < 0.0004 - < 0.0004 - -
" 1,1-'9A0LFLy (mg/1) - < 0.002 - < 0.002 - -
YA-12-Y90ATFLY  (mg/l) - < 0.004 - < 0.004 - -
& 1,1,1-M)900I4Y (mg/1) - <001 - <001 - -
1,1,2-M)900I4Y (mg/1) - < 0.0006 - < 0.0006 - -
MYORIFLY (mg/1) - < 0.003 - < 0.003 - -
g |7t79mnzrLy (mg/1) - < 0.001 - < 0.001 - -
1,3-4°9007 1Ay (mg/1) - < 0.0002 - < 0.0002 - -
FoT7 L (mg/1) - < 0.0006 - < 0.0006 - -
DA (mg/1) - < 0.0003 - < 0.0003 - -
FANVHILT (mg/1) - < 0.002 - <0.002 - -
oty (mg/1) - < 0.001 - < 0.001 - -
LY (mg/1) - < 0.001 - < 0.001 - -
|t zrruEmEmEER (ng/1) - 0.17 - 0.13 - -
14-DA %Y (mg/1) - < 0.005 - < 0.005 - -
ss (mg/1) <1 3 <1 <1 1 1
i) (mg/1) - - - - - -
i=VN (mg/1) - - - - - -
BN RE (%o) 33 33 30 32 32 32
z |yookiL L (mg/1) - < 0.001 - < 0.001 - -
,ﬁ RILLTILTER (mg/1) - <0.008 - <0.008 - -
5 |[7z/—n (mg/1) - <0.02 - <0.02 - -
B |&iemr1> (mg/1) 18000 18000 16000 18000 18000 19000
TFUoEZTHER (mg/1) - - - - - -
T ER (mg/1) - 0.17 - 0.13 - -
EIHBmEER (mg/1) - <0.01 - <001 - -
B (mg/1) - - - - - -
i




